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BOARD EXAM/CLASS -X/ MATHS/2020

C MATHEMATICS D)
SECTION-A SECTION-A
True 1. g
False 2. e
True 3. 'Hlﬂ
False 4 u)g
e :
amr = 154 5. 4u? =154

22 5
4><7><r = 154

2 154 x7
T 22x4
14x7 _49
-8 4
7
r= 2 cm

4 3
Volume = gnr

4 22 7 77
= —X—X—X—X—

37 2 2 2

11x49 _ 539
-3 3

1795 cm’® answer is none of these

52 complete work
1 day left
So, 1 day can be Sunday Monday, Tuesday,
Wednesday, Thursday, Friday, Saturday.
1

So, 7

Let n'" term be 0

T =a+m-1)xd
0=72+(n-1)x (-9)
=72-9n+ 9
=81 — 9n

9n = 81

n=9

9™ term is 0.

6X6X6
2X2X%X2

Number of cubes = =3x3x3=27

22,
4 x 7xr = 154

,  154x7
I =
22 x4
14x7 49
-8 4
_ L
r= 2 cm
g5y 4o
3
4 22 7 7 17
= — X X—X—X—
37 2 2 2
11x49 539
B 3 3

2 <
= 1795 cm® ool = AsuR dl.

52 syl A5 anHi ddi, 52 x T = 364
- A5 [eay oyl 6 ¥ AQalR, AlHAIR, HoAAAIR,
YHAR. ... alaarz U5l As sl us.

| . 1
dﬂ,awmﬂ,;

g1l 5, n Y Ue Yy ©.
T =a+m-1)xd
0=72+m-1) x (-9)

=72 -9n+ 9
=81 — 9n
9n = 81
n=9
9% ug 0 8.
. 6X6X6
AN ] Juyl = =3x3x%x3=27
2X2X%X2

[ ]
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364
365

3
Area of equilateral triangle = T><(]2)2

NG

— x 12 x 12
4

36+/3 cm?

1
E(base x height) = 36\/5

1
5(12)xh =363

h = 63 cm
3x2+kx3=1

5
6+3k:1:>3k:1_6:_5:k:_§

PE) = =1
Diagonal of sohare = 12

ay2 =12

12><\/§ _
NN

Area = (6\/5)2 =72 cm®
Radius = 1

. . 9
Decreasing radius = 1 — 1 x 100 = 10

Area = 1

o 3L
New area = 100

8lm _ 19n

i =T =
Decrease in area 100 100

a
sin@ = b = cosO = /1—sin% 0O

\/ a2 \/bz_az
= l—b—2=—

b

10.

11.

12.

13.

14.

15.

364
365
oY s 3
A6y Bislor daso = %x(n)z
= ﬁ x 12 x 12
4
= 36/3cm’

1
E(WQ x d4) = 3643

1
5(12) xh = 3613

h=6\/§cm
3x2+kx3=1

5
6+3k=1:>3k=1_6:_5:>k=_5

P(E) =

| W

1
2
212+ [As9] dond = 12
a2 =12

12x+2
2= iz -V

a5 = (6\/5)2 =72 cm?

Byl = 1

Bl adl geisl = 1 — 1 10 _2
AL =00 T 1o

arAsaHl geLsl n—%—lg—n
° B 100 100

a
sin@ = P cosO = \/1—sin% 0
\/ a’ \/bz—a2

= l—b—zz—

b

[
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nr? = 220
Zxr? =220
2 2207 _ 70
T n T
r= \/%cm
a2 =270
L2102 s
2 x+2
a’ = 140 cm?
SECTION-B
Let 3 + /7 is rational number
3+ \/7 =X
\/7 =(x-3)

We know that /7 is irration number.

So (x — 3) is also irrational number. But we
suppose that (x — 3) is rational so our
supposition is wrong

. 3 + /7 is irrational number.

HCF xLCM

Other number = One number

162 %27
54

cot0
1—tan®

= 81

tan©
. +
1—cot®

cos0
sin 0
- sin©

sin©

cos0
l_cose

sin© cos9

sin’ 0 cos’ 0

cos0(sinO — cos0)

sin6(cosO —sin6)

1 sin*0—cos* 0
(sin® —cos6)

cos0Osin6

(sin®—cos0)(1 + sinBcosB)
(sin® —cosB)(sinOcosO)

1 sin©-cosO

sin®-cos® sinO-cosHO
cosecO.secO + 1
= R.H.S.

16.

17.

18.

19.

nr? = 220
2, 220
= -

2207
22

r= /70 cm
av2 =270

NS N
V2 x42
a’ = 140 cm?
SECTION-B

Rl 3 3+ \[7 ¥ ¥y dva .
3+ ﬁ =X
J7.=(x-3)
2108 A8l el 3, f7 2 ANy dvalL

a@ll (x —3) 21 UG 244y Avyl 29 Yig 1Y 4Id
&9 5 (x=3) A 494 9. el 20148/l s vl 6.

=

=70

22l, 3 + 7 Y A0y vy .

HCF x LCM
oflw vyl = —
2S5 HVYL
162 %27 81
= 2 =
Lo — tan© N cotO
" 1—cot® 1-tan®
sin© cosO
cos0 sin O
]_cose _sine
sin© cos6
sin’ 0 cos’ 0

cosO(sin® —cosB) sinB(cosH —sinH)

1 sin>0—cos’ O
(sin® — cos0)

cos0sin6

(sin® —cos0)(1+ sinBcosO)
(sin® — cos0)(sinBcosO)

1 sin©-cosO

sin®-cos® sinO-cosO

cosecO.secO + 1

= 9.64l.

o

®
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A (0,-1)
(1,0)
P R(0,1)
B c(0,3)
2,1 Q
(1,2)

Area of triangle (PQR)

1
=5|](]—2)+0+1(O—1)|

1
= El—l—ll = 1 sq unit

Area of triangle (ABC)

1
5IO+2(3+ 1)+ 1l

1
= 5(8) = 4 sq unit

Required ratiois 1 : 4
32— 14x +15=0

_ b 14 1
oc+[3——a—3 ..(1)
e 15 2
ocB—a—3 = ...(2)

2
From (1) (o + B)* = (%)

L 196
o” + B +20LB=T
196
o +pP+10=—
9
2+ 2_% 10_%
Crp=Tmol0=g
OR

x:2—\/§:(x—2+ \/§)=0
x:2+\/§:>(x—2—\/§)=0
x-2+.3)x-2-.3)

(x-27-({3)=0
X>+4-4x-3=0
X>—4x+1=0

20.

21.

A (0,-1)
(1,0)
P R(0,1)
B c(0,3)
2,1 Q
(1,2)

A PQRQ éz159

1
:E|1(1_2)+0+1(0_1)|

—1=11 = 1 2. 54

N | =

A ABC o d259

1
5|O+2(3+ D + 11

l N
5(8) =4 .54

el =1:4
32— 14x + 15=0

_b_u |
0c+[3——a—3 ..(1)
_e 15 5
aB—a—3 = ...(2)

2
yel (1) (o + B)* = (E)

3
196
(12+B2+20.B=7
196
a?+B*+10= —
9
2+BZ_% ]0_%
T
AYdlL

x=2—\/§:>(x—2+ \/§)=O
x=2+\/§:>(x—2—\/§)=0
x-2+3)x-2-.3)

(x-27-(3)=0
X>+4-4x-3=0
X*—4x+1=0

[
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PQ = PR
(x—a-bl+(y-b+aY=(x-a+b’+(y
—a-b)?

x* + a? + b® — 2ax + 2ab — 2bx + y> + b* + a®
— 2by — 2ab + 2 ay

=x*+a’ + b?> - 2ax — 2ab + 2bx + y* + a® +
b> — 2ay + 2ab — 2by

— 2bx + 2ay = 2bx — 2ay

4bx = 4ay
bx = ay
OR
A(-3,-4)
C (-6, 10
B(z’ 5 ( )
AB? = (-3 -2)* + (-4 - 6)°
=25+ 100 = 125
BC? = (2 + 6)* + (6 — 10)*
=64 + 16 = 80
AC? = (=3 + 6)* + (-4 — 10)*
=9+ 196
=205

Yes these are the vertices of right angled A.

3xP—242x-243 =0

V3x? =32x +2x 243 = 0
V3x(x =/6) +42(x=+/6)
(x=7/6)"3x ++/2)

L.H.S.

1+sinA
1-sinA

(1+sinA)?
(1-sinA)(1+sinA)

(1+sinA)?
(1-sin* A)

(1+sinA) _\/(]+sinA)2 l+sinA

cos’ A cos’ A COsA
| +sinA A + tanA
= CoSA | cosA  ceeAttan
OR

22.

23.

24.

PQ = PR
(x—a-bl+(y-b+aY)=(x-a+b’+(y
—a-Db)?

x? + a2 + b? — 2ax + 2ab — 2bx + y? + b? + a®
— 2by — 2ab + 2 ay

= x>+ a’ + b?> = 2ax — 2ab + 2bx + y? + a® +
b% — 2ay + 2ab — 2by

— 2bx + 2ay = 2bx — 2ay

4bx = 4ay
bx = ay
YL
A(-3,-4)
C (-6, 10
B(2, 5 ( )
AB’ = (-3 -2)* + (-4 - 6)°
=25+ 100 = 125
BC? =(2 + 6)* + (6 — 10)*
=64+ 16 = 80
AC? = (-3 + 6)* + (-4 — 10)?
=9 + 196
=205

A&l »udd [RIRAGig ¢l s1es19 Pisivin [R16ig >l ¢9.
J3x? —2\/§x—2\/§ =0

V3x2 =3V2x +42x 243 =0

V3x(x=/6) +42(x—/6)

(x=~6)"3x ++/2)

L.H.S.
}] +sinA
1-sinA
(1+sinA)?
(1-sinA)(1+sinA)

(1+sinA)?
(1—sin’ A)

(1+sinA)? _\/(1+sinA)2 l+sinA

cos’ A cos’ A COSA
| + sinA A A
= = SeCA + tan
COSA CcosA

2l

[
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L.H.S. L.H.S.

sinO(1 + cos0) _sin 0(1+cos0) sin6(1 + cos0) 3 sinO(1+ cos0)
(1—cos0)(1+cos0) (1-cos” 0) (I—cos0)(1+cosB) (1—-cos’0)

sinB(1+cos6) 1+cos6 sinB(1+cos6) 1+cos6

sin’ 0 sin@ - sin” @ sin®

1 cos6 1 cosO
= = T, t———

sin”@  sin® sin0  sin@
= cosecH + cotb = cosecO + cotO

25. mode = 3 median — 2mean 25, odgds =3 Hy — 2 &S
12.4 = 3 mediuan - 2 x 10.5 12.4 =3 yeye — 2 x 10.5
12.4 + 21 = 3 mediun 124 + 21 = 3 ¥H&42e
. . 334 33.4
33.4 = 3median = median = 5 = 11.1 33.4 = 3HEYR9 = Yty = = 11.1
OR LT
Total sum of all number = 18 x 30 = 540 A4l sl 564 A4l = 18 x 30 = 540
30 number are increased by 2 30 €354 2 2qel sl qtuRl s2q14i 2uq €. del,
530 x2 =60 530 x2 =60
540 + 60 = 600 540 + 60 = 600
600 00
new mean = Ez 20 ] HEYs = 5: 20
26. x+2y=2 e (D) 26. x+2y=2 e (1)
x-3y=17 ~(2) X = 3y=7 ..(2)
() -(@2) 1 -@
5y;—5:>y:—] Sy=-5=>y=-1
Put in (1) (1) % 4sai,
X-2=2=x=4 X-2=2=x=4
x =4 & y = -1 is the solution. x=4&y=-1 2 65d4 &.
SECTION-C SECTION-C
f, —f, ] f—f
27. Mode = ¢ + | 57+ X - ——"—|xh
ode [Zfl—fo_fz 27. Mode = /{ + (Zfl—fo_fz
given mode = 34.5 e Hges = 34.5
modal class = 32 — 41 sgds Qoleouy = 32 — 41
=32 =32
h=9 h=9
f1:53,f0:a,f2:b f1:53,f0:a,f2:b
53-a 33—

- — = Ix9 7

345 =32 + (2X53—a—b] 34.5 = 32 + (2X53—a—b)><9
53—-a 53—

- | —= %9 _oTa
2.5 (l%—a—b) 2.5 = (106—a—b]><9
2_( 53-a ] 25 ( 53-a
90 | 106—a—b 9_0:(106—a—b)

139 - 56 =424 ..(1) 139 - 56 =424 ..(1)
Total of observation 2SIl H414)
5+411+9+53+b+ 16+ 10=165 5+4114+9+53+b+16+10=165
95 +a+b=165 95 +a+b=165

a+b= '70 . (2) a+b=70 (2)
From equation (1) and (2) adlse (1) 21 (2) Yl

a=43 a=43

b =27 b =27




28.

29.

CAREER INSTITUTE

BOARD EXAM/CLASS -X/ MATHS/2020

D 106 C
S R
60m
P , Q
10m
A B

AB = DC = 106, PQ = RS = 106 m
AP =DS =10 m, BQ = CR = 10m
ar(OABQP) = 106 x 10 = 106 x 10 = 1060 m?
ar(ORSDC) = 106 x 10 = 1060 m?

Area of semi circle with diameter AD
AD =60+ 10 + 10 = 80

80
r= ? =40
1 , 1 22 17600 5
A1= 5 X mre = 5><7x40x40= 7 m
Area of semicircle with diameter SP
SP = 60
r =30
1 5 1 22 9900 5
A, = 5 X Tr =5X7x30x30: Tm

Area of track = ar(OABQP) + ar(ORSDC) +
2(Area of semicircle with diameter — Area of
semicircle with diameter SP)

17600 9900
=1060 + 1060 + 2 x | =5~

7 7
7700

=2120+ 2 x

= 4320 m?
Sp =q

P
SRa+(p-1dl=gq

2ap + p(p-1) = 2q ..(1)
Sq=p

p
SRa+@-1dl=gq

2ap + q(g-1) = 2p ..(2)

Equation (1) - (2)

2ap-q) + [p(p—1) —q(q - D]d =-2p + 2q

2ap-@Q+[p -p-q+ld=-2(p -9

2ap-q +[p° - (p-9ld=-2(p - q)

2a([)> -+[p-q (P+9-P-9Ild=-2(p

-q

p-@Ra+(p+q-Ddl=-2(p-9q)
2a+p-q+1==-2

+
S =p—2q[2a+(p+q—l)d]

p+q

p*a
=( 2 )(‘2)

Speg =P+

[ ]

28.

29.

D 106 C
S R
60m
p Q
[0m
A B

AB = DC = 106, PQ = RS = 106 m

AP =DS =10 m, BQ = CR = 10m
ar(OABQP) = 106 x 10 = 106 x 10 = 1060 m?
ar(ORSDC) = 106 x 10 = 1060 m?

AD eqal x214agayg d-159

AD =60 + 10 + 10 = 80

-8 40
r= 5y =
ol L2 17600
1—2><Tl:r—2 7>< X = m
SP 4o sHadasg d-159

SP =60

r =30
A_l 2_1)(2 30 30_% 2
2—2><TEI‘—2 7>< X = 7 m
25 EoAsY =

ar (DABQP) o &5 + ar (ORSDC) o d=59 +
2( AD eiyaiol »14aqay 82150 — SP cliqlo
AEqq =] &2150)

17600 9900

= 1060 + 1060 + 2 x | =~~~
7 7
7700

=2120 + 2 x
= 4320 m’
S,=4
P
Sa+(p-1dl=q
2ap + p(p-1) = 2q ..(1)
Sq=p
P
Sl2a+(@-1dl =g
2ap + q(q-1) = 2p ..(2)

a4lse (1) - (2) ddi,

2ap-q) + [p(p- 1 -q(@-D]Jd=-2p +2q

2ap-qQ+[p-p-q+ld=-2(p -9

2ap-q@ +[pP° - (p-9ld=-2(p-q)

2a(p — Q+[(p-9(p + Q—(p — @]d = -2(p—q)

pP-9Ra+(p+q-Ddl=-2(p-9q
2a+p-q+1=-2

+
S :%[2a+(p+q—])d]

p+q

p+a
=( 2 ](‘2)

Spig=—(P+a)

o
®
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OR

T,=4
q+2d=4 (1)
Ty, =-8
a+8d=-8 ..(2)
From equation (1) & (2)

a+t8d=-8

at2d= 4

6d=-12

d=-2 a=28
T =0
a+(n-1)d=0
8+mn-1)(-2)=0
8=2(n-1)

8
n-1= >
n-1=4
n=>5

P

Q
In OOPTQ.
0+ /P + ZQ + ZT = 360°
Z0 +90 + 90 + LT = 360°
Z0 + ZT = 360° — 180° = 180°
Z0 =180 - 4T
In AOPQ
OP = 0Q
Z0PQ = Z0QP
Z0PQ + Z0QP + ZPOQ = 180°
2/Z0PQ + 180 — ZPTQ = 180°
2/0PQ = ZPTQ

Cylinder Cone
r=8cm R=2
h =40 cm H=12
T
Yoy = nr’h y, = Exrzh

=px 8x8x40cm’

T x@Px 12
3><()><

= 16 cm®
Hemisphere R! = 2 cm
Vv 2 2 3 16_TC
H ™ 3 TC( ) - 3
lon 64w

Total volume of ice-cream = 161 + T = T

30.

31.

wYal
T,=4
q+2d=4 (D
T, = -8
a+ 8d=-8 ...(2)
a¥lse (1) 211 (2) y:dl,
at+8d=-8
at+2d= 4
6d=—12
d=-2 a=38
T, =0

a+(n-1)d=0
8+(n-1)(-2)=0
8=2(n-1)

122
=175
n—-1=4
n=>5

P

Q

OOPTQ 4,
L0+ /P + £ZQ + ZT = 360°
Z0 + 90 + 90 + T = 360°
Z0 + ZT = 360° — 180° = 180°
Z0 =180 - /T
AOPQ 4,
OP = 0Q
Z0PQ = Z0QP
Z0PQ + Z0QP + ZPOQ = 180°
2/Z0PQ + 180 — ZPTQ = 180°
2/0PQ = ZPTQ

AU HLIS og w2
r=8cm R=2
h =40 cm H=12
T
Yoy = nrh y, = Exrzh

n
=px 8x8x40cm’ =§x(2)2x12

= 161 cm®

Atfaga-l Ly R = 2 cm
s =V _2 2)* _ lom
V=3 =

. 167 64w
HISHIHT $¢ 8159 = 167 + =5 =5

[



32.

CAREER INSTITUTE

BOARD EXAM/CLASS -X/ MATHS/2020

Volume of cylinder

Number of ice-cream = ;
Volume of ice —cream

_ TX8X8x40 - 120
64
3
OR

Total surface area of toy = C.S.A. of hemiphere
+ C.S.A. of cone

= 2nR? + nr/

R =35cm

r=35cm

H=15.5cm

Height of cone = 15.5 - 3.5 =12 cm

P =h+1

=122 + (3.5)?

2o ras e 2
= + 1
62.5
2 _ =
£=7
LB
T2
A=2 2 3.5 3.5 2 3.5 é
=2 X 7><(.)><(.)+ 7>< S x )
=177 + 1375
= 214.5 cm?
X' —4x+8-k
X - 2x+k )x' - 6x’ + 16x° — 25x + 10(
_X4;2x3ka2

4%’ +x* (16 —k)—25x + 10
—4x” + 8x” — 4kx
+ - 4

X' (8 —k)+x (4k —25)+10
x'(8—k)— 16x +2kx + 8k —k’
— + — -+

x (2k-9)+ 10— 8k + Kk’

Remainder is = x + a
co-officient of x is 1

2k -9 =1

k=5
a=10- 8k + k?

=10-40 + 25

a=-5

OR

32.

Soslue] o AAUSIR 89
MO Al = S 4459
_ TX8x8 x40 - 120
64
3

P CETl
R¥s3ld 56 A5 = Had ] asaulld d=50 +
gl asuulld =159
= 2nR? + mr/
R =35cm
r=35cm
H=155cm
gl Glaug = 155 -3.5=12 cm
*=h? +12
? =122 + (3.5)?

2~ 144 + =
= + 1
62.5
2 y -
o 4
N A
2
A=2 2 3.5 3.5 2 3.5 é
=2x 7><(.)><(.)+ 7>< S x >
=77 + 137.5
= 214.5 cm?
x —4x+8—k
X - 2x +k )x' - 6x + 16x - 25x + 10(
_)(4127434_-10(2

—4x’+x (16 —k)—25x + 10
—4x* + 8x” — 4kx
+ - +

X (8- k) +x (4k —25)+ 10
(8 —k)— 16x + 2kx + 8 k — K’
— + - -+

x 2k —9) + 10 — 8k + K’
A =X +a
X il dsyes 1 8.
qel, 2k — 9 = 1
k=5
a=10 - 8k + k?
=10 -40 + 25
a=-5
44|

[
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x-2)(x+2)=x*-4

9%’ — 6x + 1
X —4 )9x' —6x’ — 35%" +24x — 4
B 9)(“;36)(2
66X+ X+ 24x — 4
—6x" + 24x
—+ _
X —4
_x214
0
p(x) = q(x) x g(x) + r(x)
g(x) = x> - 4
r(x) =0
qx) =9x* —6x + 1 = (3x - 1)?
11
*= 33

T
In AOMP

OP? = PM? + OM?
100 = 64 + OM?
OM = 6 cm
PT =x
™ =y
In AOPT

6 +y)?=10* + x?
In APMT

x> =82+ y?
from equation (1) & (2)
(6 +y)? =10 + 8 + y?
y? + 12y + 36 = 100 + 64 + y*
12y = 64 + 64

128 32
Y= 12 3
32
y=3 cm

(1)

..(2)

33.

(x-2)(x+2)=x"-4

9%’ — 6x + 1
X —4 )9X4—6X3—35X2+24X—4(
B 9X4_F 36x°
—6x’ + X +24x — 4
;6)(31-24)(
x —4
_X2;4
0
p(x) = q(x) x g(x) + 1(x)
g(x) =x* -4
r(x) =0
qx) =9x* —6x + 1 = (3x - 1)?
1.1
*T 33

T
AOMP ¥,

OP? = PM? + OM?
100 = 64 + OM?

OM =6 cm
PT =x
™ =y
AOPT 4,
6 +y)* =10 + x? (1)
APMT 41,
x> =8+ y2 ....(2)

a¥lse (1) 211 (2) y:dl,
(6 +y)’=10"+ 8 +y’
y2 + 12y + 36 = 100 + 64 + y?

12y = 64 + 64
128 32
Y= 12 7 3

32
y=3 cm

[
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1024
XX=8+y’ =64+ ——
9
1600
2 _ -
YT
40
X = —-em
PT 40
=3 cm
M.Ex. (RS)| f c.f.
0-175 10 10
175-350 14 24
350-525 15 39
525-700 21 60 | Median - class
700-875 28 88
875-1050 7 95
1050-1125 5 100
N = 100
bl 50
5 =
E—cf
Median = /7 + ; h
{ =525
f=21
cf =39
h =175
@—39
M =525+ |-2 % 175
M = 616.66
SECTION-D

Speed of bead = 18 km/hr
speed of streath = y km/hr
tup - tdown =1
24 24
18—y 18+y ~
pg| BEY =184y )
18" -y
24(2y) = 324 — y*
y?> + 48y —324 =0
(y+549) (y-6)=0
y = 6 km/hr

34.

35.

1024
X*=8+y =64+ ——
9
1600
2 _ -7
Y=
40
X = 3 cm
pr= 2
= 3 cm
M.Ex. (RS)| f c.f.
0-175 10 10
175-350 14 24
350-525 15 39
525-700 21 60 | Mt qoL
700-875 28 88
875-1050 7 95
1050-1125 5 100
N = 100
N 50
S =
E—cf
HeYee = () + 2 F h
¢ =525
f=21
cf = 39
h =175
10 s,
M =525+ |2 %175
M = 616.66
SECTION-D

dllerd] #sy = 18 km/hr

Uaqiel %34 = y km/hr

tup =~ Liown = !

A

18—y 18+y ~

og| BEY 18y )
18" —y

24(2y) = 324 — y?

y? + 48y —324 =0

y+549)(y-6=0

y = 6 km/hr

o
@
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Target : BOARD EXAM/MATHS/ SOLUTIONS/2020

OR

If the time taken by larger tap be x hr and time
taken by smaller tap = (x + 10) hr

Fill by top in ore hr = total

1,1 8
x x+10 75
2x+10 8

= x? +10x s
= 8x*-70x — 750 = 0
4x* — 60x + 25x =375 =0
x=75) (x+25=0
x = 10 hr
Smaller tap fill tank in 25 hr
larger top fill tank in 10 hr

State :
hypotenuse is equal to sum of square of ther

In right angle triangle, square of

two sides
Given : In AABC ZB = 90°
To prove = AC* = AB? + BC?
const draw BD 1 AC
Proof : In AABC & AADB
/A = ZA [common]
/B = ZADB = 90°
by AA similunty
AABC ~ AADB
by CPCT

AB AC
AD AB
AB? = AC.AD (D)
In ACAB and CBD

Z/C = ZC (common) A
/B = /D = 90°
by AA similanty
ACAB ~ ACBD

BC DC
AC BC C
BC? = AC.DC (2)
add (1) & (2)
AB? + BC? = AC.DC + AC.AD

= AC(CD + AD)

= AC?

36.

YL
Y12l 5 Hlel A9 GIRL ALoldl MY X 5ELs DAl €9.
- el 19 glRL ALRldl ¥HY = (x + 10) hr

1 _s
x+10 75

. , 1
s salsHl ¢Rug wel = —+
X

2x+10 8
= x2+10x %
= 8x>-70x - 750 = 0
4x> - 60x + 25x — 375 =0
(x=75) (x+25=0
x =10 hr
14, w19 gil sl isl 25 sesHi
i Hlel AN g1l 25l 15 selsHi
uHy ;512518 Pusiari s91 coneS-l qof 21 oflw o
el Aol AL HRUGR S1Y 9.
yé : AABC #1, /B = 90°
al# = AC* = AB? + BC?
Alleidl BD 1 AC ¢l?l.
Alloid] : AABC 211 AADB 41,
ZA = ZA[Y Y Y
/B = ZADB = 90°
AA Al 443Ydl
AABC ~ AADB
CPCT gl2!

AB AC
AD AB
AB? = AC.AD (1)
ACAB i CBD #i,
ZC = £C (M) A
/B = /D = 90°
AA Al 443Ydl
ACAB ~ ACBD

BC DC
AC_ BC L C
BC? = AC.DC (2)
(1) &1 (2) GHRdl,
AB? + BC? = AC.DC + AC.AD

= AC(CD + AD)

= AC?

[
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(1) Construct a circle with centre o and radius
6 cm

(2) Draw a radius OP

(3) Drawanother radius OQ inclined at 120° on
OP

(4) Construct tangent perpendicular to radius

(5) Tangent meet at 60°

(=

800 .
AN30 50°%°
h h
309 60° C
B 0800x E X
In AABE
300 ﬁ— h
tan30" = BE T 800—x
G _ b
3 800—x
800 — x
h="7 (D)
In ADCE

DC h \/—
° — —=—= 3
tan60 EC X

L
X = \/g
Solve (1) & (2)
h = 200./3
OR
7:
87
5 )60°
A £ H
1.2 G 1.2
B C E
In AADC

37.

38.

(1) 0 7 5% vl 6 cm Biraialy aga g2l

(2) o4 OP €l?l.

(3) OP 42 120° «1l v8i 21icd? 21 d ol Gl
0Q &lzl.

(4) o Broaiqd dot 2495 g2,

(5) 245l 60° 11 vou Hsoflon 44 €.

(=

800
AN30 50°%°
h h
309 60° C
B 9800x E X
AABE #,
300 ﬁ— h
NS0 = e T 800 —x
1 __h
3 800—x
800 — x
h="17 (D)
ADCE 41,
C h
°0 - —=—= 3
tan60 BC x \/—
h
X = \/g
(1) 241 (2) 7 Gadi,
h = 2003
Y|
7:
87
5 )60°
A 30 H
12] G 12
B C E

AADC 3,

o
®
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Target : BOARD EXAM/MATHS/ SOLUTIONS/2020

DG 87
° - —=—= 3
tan60® = =G =3

87
AG = f

In AAFH

FH 87 1

@n30” = AH"AGIGH 3

87./3 = AG + GH

87
87\/_——3 = GH

\/_

87x2_m
CH="F% "0
x+l+x+2_ _2x+3
x—1 x-2 Xx—2

(x+1)(x+2)+(x—2)(x—1):4(x—2)—2x—3

(x—1)(x+2)

2x*+4  2x-—11
xX>+x-2 x-2
5x* + 19x =30 =0
(x+5) (5x-6)=0

x:—50r§

X—2

39.

DG 87
0 - —=—= 3
tan60 AG_AG \/_
87
AG=T7
AAFH #,

FH 87 1

an30" = AH " AG+GH 5

873 = AG + GH

87
73 -5% _ o

\/_

87><2_E
oH="F
x+1 x+2 2x+3

+ =4—
x—1 x—-2 X—2

X+DE+2)+(x=2)(x—1) _4(x-2)-2x-3

x—D(x+2)

2x*+4  2x-11
+x—2 x-2

52+ 19x - 30 =0
x+5GBx-6)=0

SQ’R{C{[E
=T 5

[

X—2





